GRK ULTIMATE AV ] 55 B == i .
THY Ny T —F vk Installation instructions L L KS

RRZ > EZM3 10mm
Button screw M3 10mm

EAR—ILIY R TITay s
pillow ball end aluminum block

AR =4 —M33mm
pacer M3 3mm

R AR =4 —M3 6mm
pacer M3 6mm

h—Rr7L—+
carbon plate

RZ > EZAM3 5mm
Button screw M3 5mm

RERAR—H%— FZX—AZM320mm
Hexagonal spacer male to female M3 20mm

M XM3 3mm
plate screw M3 3mm

RZ > EZAM3 20mm
Button screw M3 20mm

FRARR=—Y— X X—XZM317mm

AR EAMS 14mm &, Hexagonal spacer female M3 17mm

Button screw M3 14mm

i) GRKEVOBIE®R / —=2 LY TH R 427 —DiFA
For GRK EVO resin normal rear suspension tower

180° V> < YiIRL TFEOEZEAC
LTERYMIFLTLIZE 0,

Please flip it 180 degrees and attach
it with the flat side facing out.

Ny TV —ABERE
TNIT7AyIOMYMITNEEZERA DI ETNYT Y —DAEL 3BEICER D I EHHEET,
battery angle adjustment

By changing the mounting position of the aluminum block, the angle of the battery can be changed to
three levels.

hE[EERE
Turning-oriented type

NT v RE
Balanced type

000 <

IREBRE
Acceleration-oriented type

2023.10 UkWorks




	スライド 1

